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SATACHREIIEKILME 20238 SERLA
(et91:9)
M & H =
2t El (0:{paNgels 2 AHOH Z2+HoH 2 El Od| AboH 2 AHoH Z2+oH
Argizeol Atgizeol 19,269,760 19,269,760 0| Atz 0121y 190,422,974 | 199,422,974 0
8x349 Bx340 582,930,500 582,939,500 0| Atz SEES I 1,750,000 1,750,000 0
sg1z40l s34 78,780,000 78,780,000 0| Atz 2| 6,647,977 6,647,977 0
molz molz 10,950,000 10,950,000 0| Atz Al 2 552,500 2 552,500 0
CE EE! 6,283,930 6,283,930 0| Arethl Ateit] 81,009, 120 81,009, 120 0
maol zaol 71,106 71,106 ER AR Z2IARRI B 109,644,000 109,644,000 0
0 0 ER B2 DA 120,564,560 120,564,560 0
0 0 0| Areit %g;ﬁ%x'% 39,344,000 39,344,000 0
0 0 0| Ateibl oy Hl= 32,813,000 32,813,000 0
0 0 0| Areitl %éﬁmg%g 20,000,000 20,000,000 0
0 0 0| Aril SSqEEEe 70,062,000 70,062,000 0
0 oloiBiul 2 J1Er |oiBIEl 2 JIE 14,484, 165 1,699,455 12,784,710
A2 & 698,004.29 | 698,204,006 0 ey 698,204,296 | 685,509,586 12,784,710
MNISXEC L AISSXAIE HEEH A2 HI0X 48, H19EX 28 HEN 2AH AISSXAIE S4AXAICO2SXJMES 20238 Ald ZaS
S308HLICEH
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